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INTERMEDIATE EXAMINATION – 2020 (ANNUAL) 

Model Set 

Economics

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl iz’u i= dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k 

x;k gSA 

15 minutes of extra time has been allotted for the candidate to 

read the questions carefully. 

4- bl iz’u&i= ds nks [k.M gSa %  ,oa  

This question paper has two sections : Section-A and Section-B. 

5- [k.M&v esa 60 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 50 iz’uksa ds mÙkj nsuk 

vfuok;Z gS ¼izR;sd iz’u ds fy, 1 vad fu/kkZfjr gS½A 50 iz’uksa ls vf/kd ds 

mÙkj fn;s tkus dh fLFkfr esa izFke 50 mÙkjksa dk gh ewY;kadu fd;k tk;sxkA 

oLrqfu"B iz’uksa ds lgh mÙkj dks miyC/k djk;s x;s OMR& 'khV ¼mÙkj i=d½ 

esa fn;s x;s lgh òÙk esa dkys@uhys ckWy isu ls vafdr djsaA fdlh Hkh izdkj ds 

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Mark - 100 
iw.kkZad & 100 

326 
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OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR ’khV esa iz;ksx djuk euk 

gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 60 objective type questions out of which it 

is compulsory to answer any 50 questions (each carrying 1 mark). 

If more than 50 questions are answered, the first 50 answers will 

be evaluated. Darken the appropriate circle for correct answer of 

objective questions with black/blue ball pen on OMR (Answer) 

Sheet provided to you. Do not use Whitener/Liquid/Blade/Nail on 

OMR Sheet, otherwise the result will be invalid. 

6-  esa 28  gSa] ¼izR;sd ds fy, 2 vad fu/kkZfjr gS½ ftuesa 

ls fdUgha 15 iz’uksa ds mÙkj nsuk vfuok;Z gSA blds vfrfjDr [k.M&c esa 8 

 Hkh fn, x, gSa ¼izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSa½] 

ftuesa ls fdUgha 4 iz’uksa ds mÙkj nsuk vfuok;Z gSA  

In Section-B, there are 28 Short answer type questions (each 

carrying 2 marks), out of which any 15 questions are to be 

answered. Apart from this, there are 8 Long answer type 

questions, (each carrying 5 marks), out-of which any 4 questions 

are to be answered.  

7- fdlh rjg ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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Section – A 

Objective Type Questions 

iz'u la[;k 1 ls 60 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

,d fodYi lgh gSA vius }kjk pqus x;s lgh fodYi dks OMR&’khV ij fpfUgr djsaA 

fdUgha 50 iz’uksa dk mÙkj nsaA 50 iz’uksa ls vf/kd ds mÙkj fn, tkus dh fLFkfr esa izFke 50 

mÙkjksa dk gh ewY;kadu fd;k tk,xkA      (50x1=50) 

Question No.- 1 to 60 have four options, out of which only one is 

correct. You have to mark, your selected option, on the given OMR-Sheet. 

Answer any 50 questions. If more than 50 questions are answered, the first 

50 answers will be evaluated.      (50x1=50) 

1- fuEu esa ls fdl vFkZO;oLFkk esa futh {ks= vkSj lkoZtfud {ks= dk lg&vfLrRo 

gksrk gS \ 

A- iwathoknh     B- lektoknh 

C- fefJr     D- buesa ls dksbZ ugha 

In the following which economy has a co-existence of private and 

public sector ? 

A. Capitalist     B. Socialist  

C. Mixed     D. None of these 

2- O;f"V vFkZ’kkL= ds vUrxZr fuEu esa fdldk v/;;u fd;k tkrk gS \ 

A- O;fDrxr bdkbZ    B- vkfFkZd lexz   

C- jk"Vªh; vk;     D- buesa ls dksbZ ugha 
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Which of the following is studied under Microeconomics ? 

A. Individual Unit    B.Economic Aggregate 

C. National Income   D. None of these 

3- vkfFkZd leL;k ewyr% fuEu esa ls fdl ls lacaf/kr gS \   

A- pquko     B- miHkksDrk p;u  

C- QeZ p;u     D- buesa ls dksbZ ugha 

Economic problem is basically related to which of the following ? 

A. Choice     B. Consumer’s Selection 

C. Firm’s Selection   D. None of these 

4- fuEu esa ls dkSu futh oLrq ugha gS \ 

A- LdwVj     B- lkbZfdy   

C- jsy      D- buesa ls lHkh 

Which of the following is not a Private good? 

A. Scooter     B. Bicycle  

C. Rail      D. All the above 

5- Tkc dqy mi;ksfxrk vf/kdre gksrh gS] rc lhekUr mi;ksfxrk D;k gksrh gS \ 

A- /kukRed gksrh gS    B- _.kkRed gksrh gS  

C- 'kwU; gksrh gS    D- buesa ls rhuksa n’kk,¡ 

When Total Utility is maximum, what is Marginal Utility ? 

A. Positive     B. Negative 

C. Zero     D. All of these conditions 
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6- fdl izdkj dh oLrqvksa ds ewY; esa deh gksus ls ekax esa o`f) ugha gksrh gS \ 

A- vfuok;Z oLrq,¡    B- vkjkenk;d oLrq,¡   

C- foykflrk oLrq,¡    D- buesa ls dksbZ ugha 

For which goods price fall does not cause an increase in demand? 

A. Necessary goods   B. Comfort goods 

C. Luxury goods    D. None of these 

7- ;fn ewY; esa 40 izfr’kr ifjorZu ds QyLo:Ik fdlh oLrq dh ekax esa 60 

izfr’kr ifjorZu gksrk gS] rks ekax dh yksp D;k gS \ 

A- 0-5      B- & 1-5   

C- 1      D- 0 

If a demand of a good changes by 60% due to 40% change in 

price, what is the Elasticity of Demand? 

A- 0-5      B- & 1-5   

C- 1      D- 0 

8- dher ;k ctV js[kk dh <ky fuEu esa ls dkSu gS \ 

A- &      B- &  

C-       D-  

Which of the following is slope of the Price or Budget line? 

A. -      B. - 

B.       D.  

Px 
Py 

Py 
Px 

Px 
Py 

Py 
Px 

Px 
Py 

Py 
Px 

Px 
Py 

Py 
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9- vk; c<+us ij miHkksDrk fdu oLrqvksa dh ekax ?kVk nsrk gS \ 

A- fuEu dksfV dh oLrq,¡   B- lkekU; oLrq,¡   

C- nksuksa A vkSj B    D- buesa ls dksbZ ugha 

With an increase in income consumer decreases the demand of 

which goods? 

A. Inferior goods    B. Normal goods 

C. Both A and B    D. None of these 

10- nh?kZdkyhu mRiknu Qyu dk laca/k fuEu esa fdlls gS \ 

A- ekax ds fu;e ls    B- mRifÙk òf) fu;e ls 

C- iSekus ds izfrQy ls   D- ekax dh yksp ls 

Long Run Production function is related to which of the following ? 

A. Law of Demand    B. Law of Increasing Returns 

C. Laws of Returns to scale  D. Elasticity of Demand 

11- xkSlsu dk izFke fu;e fuEu esa ls dkSu&lk gS\ 

A-ekax dk fu;e    B- lhekUr mi;ksfxrk âkl fu;e 

C- lelhekUr mi;ksfxrk fu;e  D- miHkksDrk dh cpr 

Which of the following is the first law of Gossen? 

A. Law of Demand     

B. Law of Diminishing Marginal Utility 
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C. Law of Equi-Marginal Utility 

D. Consumer’s Surplus 

12- ekax oØ dh <ky dk eku D;k gksrk gS \ 

A- /kukRed     B- _.kkRed  

C- 'kwU;      D- buesa ls dksbZ ugha 

What is the value of the slope of demand curve ? 

A. Positive     B. Negative 

C. Zero     D. None of these 

13- fuEu esa ls fdl fu;e dh O;k[;k vYidkyhu mRiknu Qyu }kjk dh tkrh 

gS\ 

A- ekax ds fu;e    B- ifjorZu’khy vuqikr ds fu;e 

C- iSekus ds izfrQy    D- ekax dh yksp 

Which of the following laws is explained by short Run Production 

Function? 

A. Law of Demand     

B. Law of Variable Proportions 

C. Returns to scale 

D. Elasticity of Demand 
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14- Tkc vkSlr ykxr ?kV jgh gks rks lhekUr ykxr vkSlr ykxr dh rqyuk esa 

fdl fLFkfr esa gksrh gS\ 

A. MC>AC     B. MC=AC 

C. MC < AC     D. MC ≠ AC 

When Average Cost is decreasing what status Marginal Cost has 

as compared to Average Cost? 

B. MC>AC     B. MC=AC 

C. MC < AC     D. MC ≠ AC 

15- Lkhekar vk; fuEu esa ls dkSu gS \ 

A.       B-  

C-      D- buesa ls dksbZ ugha 

Which of the following is Marginal Revenue? 

A.       B.   

C.      D. None of these 

16- vf/kdre ykHk dh iwjd (sufficient) 'krZ D;k gS \ 

A- lekurk ds fcUnq ij MC c<+rh gqbZ gksuh pkfg,A    

B- lkekurk ds fcUnq ij MC ?kVrh gqbZ gksuh pkfg,A 

C- lhekUr ykxr js[kk lhekUr vkxe js[kk dks Åij ls dkVsA 

D- buesaa ls dksbZ ugha 

What is the sufficient condition for Profit Maximisation? 

TR 
Q 

TR 
Q 

AR 
Q 

TR 
Q 

TR 
Q 

AR 
Q 
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A. At the point of equilibrium MC should be rising   

B. At the point of equilibrium MC should be falling 

C. MC curve must cut MR from above. 

D. None of these 

17- fdl cktkj esa oLrq foHksn ik;k tkrk gS\ 

A- 'kq) izfr;ksfxrk    B- iw.kZ izfr;ksfxrk 

C- ,dkf/kdkj     D- ,dkf/kdkjh izfr;ksfxrk 

In which market Product Differentiation is found ? 

A. Pure Competition   B. Monopolistic Competition 

C. Monopoly     D. Monopolistic Competition 

18- [kk|kUu miyC/krk fxjkoV fl)kar ds izfriknd dkSu gS \ 

A- jkWfcUl     B- veRlZ lsu 

C- fgDl     D- buesa ls dksbZ ugha 

Who propounded Food Availability Decline theory? 

A. Robbins     B. Amartya Sen 

C. Hicks     D. None of these 

19- fuEu esa ls LVkWd pj dkSu gS \ 

A- vk;      B- fuos’k 
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C- miHkksx     D- /ku 

Which of the following is stock variable? 

A. Income     B. Investment 

C. Consumption    D. Wealth 

20- volj ykxr dk oSdfYid uke D;k gS\ 

A- vkfFkZd ykxr    B- larqyu ewY; 

C- lhekUr ykxr    D- vkSlr ykxr 

The alternative name of Opportunity cost is 

A. Economic Cost    B. Equilibrium Price 

C. Marginal Cost    D. Average Cost 

21- iwfrZ ds fu;e dks fuEufyf[kr esa dkSu&lk Qyu iznf’kZr djrk gS\ 

A- S = f (P)     B. S = f (1/P) 

C. S = f (Q)     D. buesa ls dksbZ ugha 

Which of the following function shows the law of supply?  

A. S = f (P)     B. S = f (1/P) 

C. S = f (Q)     D. None of these 

22- ,dkf/kdkjh izfr;ksfxrk dh fuEufyf[kr esa dkSu&lh fo’ks"krk gS\ 

A- foHksnhd`r mRiknu    B- foØ; ykxrsa  
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C- cktkj dk viw.kZ Kku   D- mi;qZDr lHkh 

Which is the feature of Monopolistic Competition? 

A. Differentiated Product   

B. Selling Cost 

C. Imperfect Knowledge of the market     

D. All of the above 

23- iw.kZ izfr;ksfxrk cktkj esa fdlh QeZ dh ekax oØ dk vkdkj dSlk gksrk gS \ 

A- x & v{k ds lekukUrj js[kk  B- y & v{k ds lekukUrj js[kk 

C- vk;rkdkj vfrijoy;   D- buesa ls dksbZ ugha 

What is the shape of demand curve of a firm in perfect 

competition? 

A. Line parallel to x-axis   B. Line parallel to y-axis 

C. Rectangular Hyperbola  D. None of these 

24- rVLFkrk oØ dk >qdko dSlk gksrk gS \ 

A- ck;sa ls nk;sa mij dh vksj   B- ck;sa ls nk;sa uhps dh vksj 

C- nksuksa A vkSj B    D- buesa ls dksbZ ugha 

What is the direction of slope of Indifference curve? 

A. Upward from left to right  B. downward from left to right 

C. Both A and B    D. None of these 

25- Ekkax esa ^ladqpu* dc gksrk gS \ 
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A- dher c<+rh gS vkSj ekax ?kVrh gS 

B- dher c<+rh gS vkSj ekax Hkh c<+rh gSA 

C- dher fLFkj jgrh gS] vkSj ekax ?kVrh gSA     

D- dher ?kVrh gS vkSj ekax fLFkj jgrh gSA 

Contraction in demand occurs when?  

A. Price rises and Demand falls 

B. Price rises and Demand also rises 

C. Price remains stable and Demand falls     

D. Price falls but Demand remains stable. 

26- rr̀h;d {ks= esa dkSu lsok lfEefyr gS \ 

A- [kuu       B- fuekZ.k 

C- lapkj     D- i'kqikyu  

Which service is included in Tertiary Sector? 

A. Mining     B. Construction 

C. Communication    D. Animal Husbandry 

27- Lkk/ku ykxr ij 'kq) jk"Vªh; mRikn dks D;k dgk tkrk gS\ 

A- jk"Vªh; vk;     B- ldy fuos’k 

C- ?ksjyw vk;     D- buesa ls dksbZ ughaA 

What is Net National product at Factor Cost called? 
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A. National Income   B. Gross Investment 

C. Domestic Income   D. None of these 

28- fLFkj dher ij jk"Vªh; vk; dks D;k dgrs gSa \ 

A- udn jk"Vªh; vk;    B- okLrfod jk"Vªh; vk; 

C. GNP voLQhfrd    D- buesa ls dksbZ ugha 

Which term is used for National Income at constant price? 

A. Nominal National Income  B. Real National Income 

C. GNP Deflator    D. None of these  

29- jk"Vªh; vk; esa fuEu esa ls fdls lfEefyr fd;k tkrk gS \ 

A- gLrkUrj.k Hkqxrku     

B- 'ks;j ,.M ckW.M dh fcØh ls izkIr jkf’k 

C- dkys /ka/ks ls izkIr vk; 

D- buesa ls dksbZ ugha 

Which is included in National Income? 

A. Transfer Earnings    

B. Sale proceeds of shares and bonds 

C. Black Money 

D. None of these 
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30- ,d ys[kk o"kZ esa fdlh ns’k esa ftruh Hkh vafre oLrqvksa vkSj lsokvksa dk mRiknu 

gksrk gS] mlds cktkj ewY; dks D;k dgrs gSa \ 

A- ldy jk"Vªh; mRikn   B- jk"Vªh; vk; 

C- ldy ?kjsyw mRikn    D- 'kq) jk"Vªh; mRikn 

What is the market value of all final goods and services produced 

in an economy over a year called? 

A. Gross National Product  B. National Income 

C. Gross Domestic Product  D. Net National Product 

31- jk"Vªh; iz;ksT; vk; dh x.kuk fuEu esa fdl ij gksrh gS \ 

A- cktkj dher     B- lk/ku ykxr 

C- cktkj dher vkSj lk/ku ykxr nksuksa ij D- buesa ls dksbZ ugha 

National Disposable Income is calculated at which of the 

following? 

A. Market Price     B. Factor Cost 

C. Both Market Price and Factor Cost D. None of these 

32-  ^eqnzk og gS tks eqnzk dk dk;Z djsA* ;g fdldk dFku gS \ 

A- gkVZys fonlZ      B- gkVªs 

C- FkkWel      D- dhUl 

“Money is what money does” Who statement is this ? 

A. Hartley Withers    B. Hawtrey  
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C. Thomas     D. Keynes 

33- Lkk[k xq.kd fuEu esa ls dkSu gS\ 

A-       B- udn (Cash) x   

C- udn (Cash) x CRR   D- buesa ls dksbZ ugha 

Which of the following is Credit Multiplier ?  

A.       B. Cash x 

C. Cash  x CRR    D. None of these 

34- Hkkjrh; cSafdax iz.kkyh dk laj{kd dkSu gS \ 

A- fjtoZ cSad vkWQ bafM;k   B- LVsV cSad vkWQ bafM;k 

C- ;wfuV VªLV vkWQ bafM;k   D- Hkkjrh; thou chek fuxe 

Who is the custodian of Indian Banking system ? 

A. Reserve Bank of India  B. State Bank of India 

C. Unit Trust of India   D. LIC of India 

35- ctV izkfIr;ksa ds la?kVd fuEufyf[kr esa dkSu gS \ 

A- jktLo izkfIr;k¡    B- iwathxr izkfIr;k¡ 

C- nksuksa A vkSj B    D- buesa ls dksbZ ugha 

From the following which is the component of Budget Receipt ?  

A. Revenue Receipt   B. Capital Receipt 

C. Both A and B    D. None of these 

1 
CRR 

1 
CRR 

1 
CRR 

1 
CRR 
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36- fodkl'khy jk"Vªksa ds fy, dkSu&lk ctV lcls mi;qDr gksrk gS \ 

A- ?kkVs dk ctV    B- larqfyr ctV   

C- cpr dk ctV    D- buesa ls lHkh 

Which of the following Budget is most suitable for developing 

countries? 

A. Deficit Budget    B. Balanced Budget   

C. Surplus Budget    D. All the above 

37- fuEu esa ls dkSu vizR;{k dj gS \ 

A- vk; dj     B- laifÙk dj 

C- mRikn 'kqYd    D- migkj dj 

Which of the following is Indirect Tax ? 

A. Income Tax    B. Wealth Tax 

C. Excise Duty    D. Gift Tax 

38- fuEu esa ls dkSu jktdks"kh; ?kkVs ls gksus okyk [krjk gS\ 

A- voLQhfrdkjh ncko   B- LQhfrdkjh ncko 

C- nksuksa A vkSj B    D- buesa ls dksbZ ugha 

From the following which is the danger of Fiscal Deficit? 

A. Deflationary Pressure   B. Inflationary Pressure 

C. Both A and B    D. None of these 
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39- ^ctV* fdl Hkk"kk dk 'kCn gS\ 

A- ySfVu     B- teZu 

C- Ýsap      D- buesa ls dksbZ ugha 

Budget is a word of which language?  

A. Latin     B. German  

C. French     D. None of these  

40- pkyw [kkrs dh fuEufyf[kr esa dkSu&lh ensa gSa \ 

A- n`’; enksa dk vk;kr    B- i;ZVdksa dk [kpZ 

C- n`’; enksa dk fu;kZr   D- mi;qZDr lHkh  

From the following which is the item of Current Account ? 

A. Import of visible items  B. Expenses of Tourists 

C. Export of Visible items  D. All the above 

41- Hkqxrku 'ks"k dk ?kVd dkSu gS \ 

A- pkyw [kkrk      B- iwath [kkrk 

C- nksuksa A vkSj B    D- buesa ls dksbZ ugha 

Which is the component of Balance of Payment?  

A. Current Account   B. Capital Account 

C. Both A and B    D. None of these 

42- fuEufyf[kr esa ls dkSu okLrfod fuos’k gS \ 
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A- 'ks;j [kjhnuk    B- iqjkuh QSDVªh [kjhnuk 

C- Hkouksa dk fuekZ.k     D- cSad esa tek [kkrk [kksyuk 

Which of the following is a Real Investment? 

A. Purchasing of a share   

B. B. Purchasing of Old factory 

C. Construction of Building   

D. Opening deposit account in the bank. 

43- lhekUr miHkksx izo`fr fuEu esa ls dkSu gS\ 

A-      B-  

C-      D- buesa ls dksbZ ugha 

Which of the following is Marginal Propensity to Consume? 

A.       B.  

B.       D. None of these 

44- fuos'k xq.kd fl)kUr dh vo/kkj.kk fdlus nh\ 

A- dhUl     B- dkgu 

C- gsUlu     D- ek’kZy 

Who gave the concept of Investment Multiplier? 

A. Keynes     B. Kahn 

C. Hansen     D. Marshall 

45- ^vfrjsd ekax* mRiUu gksus ds dkSu ls dkj.k gSa \ 

Y 
C 

C 
Y 

Y 
I 

Y 
C 

C 
Y 

Y 
I 
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A- lkoZtfud O;; esa òf)   B- eqnzk dh iwfrZ esa òf)   

C- djksa esa deh     D- mi;qZDr lHkh 

Which of the following is the cause of “Excess Demand”? 

A. Increase in Public Expenditure 

B. Increase in Money supply 

C. Fall in Taxes 

D. All the above 

46- nwljs ujflEge lfefr dk xBu fdl o"kZ gqvk\ 

A- 1978      B- 1991 

C- 1997      D- 1998 

In which year the second Narsimham Committee was constituted ? 

A- 1978      B- 1991 

C- 1997      D- 1998 

47- fdlds vuqlkj lk/kuksa ds vkoaVu dh rhu ekSfyd leL;k,¡ gSa\ 

A- jkWcVZlu     B- ek’kZy 

C- lSE;wylu     D- buesa ls dksbZ ugha  

According to whom there are three main problems of allocation of 

resources ? 

A. Robertson    B. Marshall 
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C. Samuelson    D. None of these 

48- iwath LVkWd dh o`f) D;k dgykrh gS\ 

A- iwath âkl     B- iwath ykHk 

C- iwath fuekZ.k     D- buesa ls dksbZ ugha 

What is known as increase in stock of capital ? 

A. Capital loss    B. Capital profit 

C. Capital formation   D. None of these 

49- fuEu esa ls fdl mís’; ls [kjhnh xbZ oLrq,¡ vfUre oLrq,¡ dgykrh gSa \ 

A- vko’;drk dh larqf"V gsrq   B- QeZ esa fuos’k gsrq 

C- nksuks A vkSj B    D- buesa ls dksbZ ugha 

For which of the following purposes goods purchased are called 

final goods? 

B. For satisfaction of wants  B. For investment in firm 

C. Both A and B    D. None of these 

50- lrr~ vkfFkZd o`f) dk lwpd dkSu gS \ 

A. GNP voLQhfrd    B. GDP 

C- gfjr GNP     D- NNP 

Which is indicator of Sustainable Economic Growth ? 

A. GNP Deflator    B. GDP 
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C- Green GNP    D- NNP 

51- eqnzk dh iwfrZ dh eki M1 esa D;k 'kkfey gS \ 

A. C = turk ds ikl djsalh   

B- DD = cSadksa ds }kjk 'kq) ekax tek 

C- OD = fjtoZ cSad ds ikl vU; tek      

D- mi;qZDr lHkh 

What does Measure of Money supply M1 include?  

A- C= Currency held by public   

B- DD = Net Demand Deposit of the bank 

C- OD = Other Deposits held with the RBI     

D- All the above 

52- ATM dk iw.kZ :Ik D;k gS \ 

A- ,uh Vkbe euh    B- vkWy Vkbe euh 

C- vkVksesVsM Vsyj e’khu   D- nksuksa A vkSj B 

The full form of ATM is - 

A. Any Time Money   B. All Time Money 

C. Automated Teller Machine  D. Both A and B 

53- “Traite d’Economie Politique” uked iqLrd ds ys[kd dkSu gSa\ 

A- ihxw      B- ts0ch0ls0  
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C- dhUl     D- fjdkMksZ 

Who is the author of the book ‘Traite d’Economie Politique’? 

A. Pigou     B. J. B. Say 

C. Keynes     D. Ricardo 

54- dhUl us vFkZO;oLFkk esa U;wu ekax dh n’kk dks fdl uke ls iqdkjk gS \ 

A- iw.kZ jkstxkj larqyu    B- U;wu jkstxkj larqyu 

C- nksuksa A vkSj B    D- buesa ls dksbZ ugha 

Keynes has called the state of deficient demand in the economy 

as? 

A. Full Employment Equilibrium  

B. Under Employment Equilibrium 

C.  Both A and B 

D. None of these 

55- fdl fLFkfr esa lLrh ekSfnzd uhfr viuk;h tkrh gS \ 

A- U;wu ekax dh fLFkfr   B- vfrjsd ekax dh fLFkfr  

C- nksuksa A vkSj B    D- buesa ls dksbZ ugha 

In which situation Cheap Money Policy is adopted ? 

A. In the Situation of Deficient Demand    
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B. In the situation of Excess Demand 

C. Both A and B      

D. None of these 

56- jktdks"kh; vuq’kklu dk lwpd dkSu gS \ 

A. /kukRed izkFkfed ?kkVk   B- _.kkRed izkFkfed ?kkVk  

C- 'kwU; izkFkfed ?kkVk    D- buesa ls dksbZ ugha 

What is the indicator of Fiscal Discipline ? 

A. Positive Primary Deficit  B- Negative Primary Deificit  

C- Zero Primary Deficit      

D- None of these 

57- ,sls O;; tks ljdkj ds fy, fdlh ifjlEifÙk dk l`tu ugha djrs gSa] dgykrs 

gSa\ 

A- jktLo O;;     B- iwathxr O;; 

C- nksuksa A vkSj B    D- buesa ls dksbZ ugha  

What is the expenditure that does not create assets for the 

government called? 

A. Revenue Expenditure   B. Capital Expenditure 

C. Both A and B    D. None of these 
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58- czsVu oqM~l iz.kkyh ds le; vf/kdka’k ns’kksa esa D;k Fkk \ 

A- fLFkj fofue; nj    B- vf/kdhfyr ¼isx~M½ fofue; nj 

C- nksuksa A vkSj B    D- buesa ls dksbZ ugha 

Which system prevailed in most countries during Bretton Woods 

System? 

A. Fixed Exchange Rate   B. Pegged Exchange Rate 

C. Both A and B    D. None of these 

59- O;kikj larqyu dk vFkZ D;k gksrk gS \ 

A- iwath dk ysu&nsu    B- oLrqvksa dk vk;kr ,oa fu;kZr 

C- dqy ØsfMV vFkok MsfcV   D- buesa ls lHkh 

What is the meaning of Balance of Trade?. 

C. Capital Transactions   B. Import & Export of goods 

C. Total Cedit and Debit   D. All of the above 

60- iwath [kkrs dk ysu&nsu fdl :Ik esa gksrk gS \ 

A. izokg      B- LVkWd 

C- nksuksa A vkSj B    D- buesa ls dksbZ ugha 

In what form capital Account Transaction takes place? 

A. Flow     B. Stock 

C. Both A and B    D. None of these 
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Section-B  

Non-Objective Type Questions 

Short Answer Type Questions

iz’u la[;k 1 ls 28 rd y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gSA 'kCn lhek 40 ls 50 'kCn gSA    (15x2=30) 

Question no. 1 to 28 are Short answer type. Answer any 15 questions. Each 

question carries 2 marks. Word limit is 40-50 words.   (15x2=30) 

1- ,d vFkZO;oLFkk dh izeq[k leL;k,¡ D;k gS\      2 

What are the main problems of an economy? 

2- volj ykxr dh vo/kkj.kk dks le>kb,A      2 

Explain the concept of Opportunity Cost. 

3- lhekar mi;ksfxrk âkl fu;e D;k gS \      2 

What is Law of Diminishing Marginal Utility? 

4- ctV js[kk D;k gS \         2 

What is Budget line ? 

5- ^iSekus ds izfrQy* ,oa ^lk/ku ds izfrQy* esa D;k varj gS \   2 

What is the difference between ‘Returns to Scale’ and ‘Returns to 

a factor’? 

6- vkSlr ykxr vkSj lhekar ykxr esa laca/k Li"V dhft,A    2 

Explain the relationship between Average Cost and Marginal Cost. 

7- ^iwfrZ vuqlwph* ,oa ^iwfrZ oØ* ls vki D;k le>rs gSa \    2 
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What do you mean by ‘Supply Schedule’ and ‘Supply Curve’? 

8- iwfrZ yksp fdrus izdkj dh gksrh gS \       2 

What are different types of Supply Elasticity?  

9- ,dkf/kdkj ls vki D;k le>rs gSa \       2 

What do you mean by Monopoly? 

10- cktkj dher vkSj lkekU; dher ds laca/k dks le>kb,A    2 

Explain the relation between Market Price and Normal Price. 

11- yxku D;k gS\          2 

What is Rent ? 

12- dkSu&lh 'kfDr;k¡ etnwjh nj fu/kkZfjr djrh gS \ 

What forces determine wage rate ? 

13- cktkj ykxr ij 'kq) jk"Vªh; mRikn vkSj lk/ku ykxr ij 'kq) jk"Vªh; mRikn 

esa D;k varj gS\         2 

What is the difference between Net National Product at market 

price (NNPMP) and Net National Product at factor cost (NNPFC)? 

14- jk"Vªh; vk; ds ekius dh ewY;of/kZr fof/k D;k gS \    2 

What is value Added Method of measurement of National Income? 

15- miHkksx Qyu dks ifjHkkf"kr dhft,A       2 

Define Consumption Function. 

16- iw.kZ jkstxkj ,oa viw.kZ jkstxkj larqyu esa varj dks crkb;sA   2 
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Differentiate between Full Employment and Under Employment 

Equilibrium. 

17- eqnzk ds eq[; dk;ksZa dk mYys[k djsaA       2 

State the main functions of Money. 

18- izkFkfed tek ,oa O;qRiUu tek esa D;k lac/k gs\     2 

What is the relationship between Primary Deposit and Derived 

Deposit ? 

19- izxfr’khy vkSj izfrxkeh djksa esa varj crkb,A     2 

Distinguish between Progressive and Regressive taxes. 

20- ljdkjh ctV ds fdUgha pkj mís’;ksa dks fy[ksaA     2 

Write any four objectives of government Budget. 

21- larqyu fofue; nj D;k gS \        2 

What is equilibrium exchange rate? 

22- LQhfrd vkSj voLQhfrd varjky esa varj Li"V dhft,A    2 

Distinguish between Inflationary and Deflationary gap. 

23- lhekar izfrLFkkiu nj D;k gS \        2 

What is Marginal Rate of Substitution ? 

24- ldy jk"Vªh; mRikn ls vki D;k le>rs gSa \     2 

What do you mean by Gross National Product (GNP) ? 

25- ekSfnzd uhfr dk D;k vFkZ gS\        2 

What is meant by Monetary Policy? 
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26- voLQhfr dks ifjHkkf"kr djsaA        2 

Define Deflation. 

27- vkSlr mRikn vkSj lhekar mRikn esa laca/k Li"V djsaA    2 

Mention the relationship between Average Product and Marginal 

Product. 

28- ekSfnzd etnwjh ,oa okLofod etnwjh esa Hksn crkb;sA    2 

Distinguish between Money Wage and Real Wage. 

Long Answer Type Questions

iz’u la[;k 29 ls 36 rd nh?kZ mÙkjh; iz’u gSaA bl dksfV ds izR;sd iz’u ds fy, 5 vad 

fu/kkZfjr gSaA fdUgha 4 iz’uksa ds mÙkj nsaA 'kCn lhek 100&120 'kCn gSA (4x5=20) 

Question no. 29 to 36 are Long answer type questions. Each question 

carries 5 marks. Answer any 4 questions. Word limit is 100-120 words. 

           (4x5=20) 

29- ekax dk fu;e D;k gS\ bl fu;e dh rhu ekU;rk,¡ fy[ksaA 

What is Law of Demand? Write any three assumptions of this law. 

30- iw.kZ izfrLi/khZ QeZ ds dqy vkxe] lhekar vkxe rFkk vkSlr vkxe ds chp laca/k 

dks Li"V djsaA 

Explain the relationship between Total Revenue, Marginal 

Revenue and Average Revenue of perfectly competitive firm. 
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31- fp= dh lgk;rk ls iw.kZ izfr;ksfxrk cktkj esa larqyu ewY; ds fu/kkZj.k dks Li"V 

djsaA 

Show with the help of diagram determination of equilibrium price 

under perfect competition. 

32- jk"Vªh; vk; dks ekius dh O;; fof/k dks le>kb,A 

Explain Expenditure method of calculating National Income. 

33- ,d js[kkfp= dh lgk;rk ls LQhfrd varjky dh O;k[;k djsaA 

Explain the concept of Inflationary gap with the help of a diagram. 

34- O;kolkf;d cSad ds fofHkUu dk;ksZa dk mYys[k djsaA 

Explain the Various functions of Commercial Banks. 

35- fuos'k xq.kd rFkk lhekar miHkksx izo`fr esa laca/k Li"V dhft,A 

Explain the relationship between Investment Multiplier and 

Marginal Propensity to Consume. 

36- dsUnzh; cSad ds fdUgha nks ek=kRed lk[k fu;a=.k fof/k;ksa dk o.kZu dhft,A 

Describe any two quantitative methods of Credit Control of Central 

Bank. 


